Parkway Areas

Contract No.	SPC-02-15	Milepost	130-137
--------------	-----------	----------	---------

			<u>Triple C</u> <u>Nurseries,</u> <u>Inc.</u> Holmdel, NJ	
Monday to Friday Regular Time	Qty	Bid Hours	Hourly Rate	Total
1. Plow Trucks with Contractor supplied plows	10	8	\$435.00	\$34,800.00
2. Supervisory Vehicle	1	8	\$150.00	\$ 1,200.00
Monday to Friday Standby Time				
1. Plow Trucks with Contractor supplied plows	10	2	\$217.00	\$ 4,340.00
2. Supervisory Vehicle	1	2	\$125.00	\$ 250.00
TOTALS				\$40,590.00

Contract No. SPC-03-15 Milepost 124-131

·			<u>Tarheel</u> <u>Enterprises,</u> <u>Inc.</u> Morgan, NJ	
Monday to Friday Regular Time	Qty.	Bid Hours	Hourly Rate	Total
1. Plow Trucks with Contractor supplied plows	10	8	\$475.00	\$38,000.00
2. Supervisory Vehicle	1	8	\$135.00	\$ 1,080.00
Monday to Friday Standby Time				
Plow Trucks with Contractor supplied plows	10	2	\$200.00	\$ 4,000.00
2. Supervisory Vehicle	1	2	\$125.00	\$ 250.00
TOTALS				\$43,330.00

Contract No. SPC-10-15 Milepost 98-104

			Earle Asphalt	
			Company	
			Farmingdale,	
			<u>NJ</u>	
Monday to Friday Regular Time	Qty.	Bid Hours	Hourly Rate	Total
1. Plow Trucks with Authority supplied plows	8	8	\$350.00	\$22,400.00

Monday to Friday Standby Time

1. Plow Trucks with Authority supplied plows	8	2	\$175.00	\$ 2,800.00
TOTALS				\$25,200.00
Contract No. SPCO-01-15 Milepos	st 131-1	26 Route	440 Ramps Joe Carrelha Jr. Tkg. Co., Inc. Marlboro, NJ	
Monday to Friday Regular Time	Qty.	Bid Hours	Hourly Rate	Total
Plow Trucks with Contractor supplied plows	2	8	\$279.00	\$ 4,464.00
2. Plow Trucks with Contractor supplied plows & Spreaders	4	8	\$364.00	\$11,648.00
3. Supervisory Vehicle	1	8	\$149.00	\$ 1,192.00
Monday to Friday Standby Time				
1. Plow Trucks with Contractor supplied plows	2	2	\$139.50	\$ 558.00
2. Plow Trucks with Contractor supplied plows & Spreaders	4	2	\$149.00	\$ 1,192.00
3. Supervisory Vehicle	1	2	\$125.00	\$ 250.00
TOTALS				\$19,304.00
Contract No. SPS-03-15 Milepost	63-75		Earle Asphalt Company Farmingdale, NJ	
Monday to Friday Regular Time	Qty.	Bid Hours	Hourly Rate	Total
 Plow Trucks with Authority supplied plows 	6	8	\$275.00	\$13,200.00
2. Supervisory Vehicle	1	8	\$175.00	\$ 1,400.00
Monday to Friday Standby Time				
1. Plow Trucks with Authority supplied plows	6	2	\$137.50	\$ 1,650.00
2. Supervisory Vehicle	1	2	\$125.00	\$ 250.00

TOTALS

\$16,500.00

Contract No. SPS-06-15 Milepost 14-30

			<u>Seashore</u>	
			Asphalt Corp.	
			Woodbine, NJ	
Monday to Friday Regular Time	Qty.	Bid Hours	Hourly Rate	Total
1. Plow Trucks with Authority supplied plows	3	8	\$194.00	\$ 4,656.00
2. Plow Trucks with Authority supplied plows & Spreaders	3	8	\$394.00	\$ 9,456.00
3. Supervisory Vehicle	1	8	\$350.00	\$ 2,800.00
Monday to Friday Standby Time				
1. Plow Trucks with Authority supplied plows	3	2	\$97.00	\$ 582.00
2. Plow Trucks with Authority supplied plows & Spreaders	3	2	\$197.00	\$ 1,182.00
3. Supervisory Vehicle	1	2	\$125.00	\$ 250.00
TOTALS				\$18,926.00

Contract No. SPS-07-15 Milepost 0-14

Monday to Friday Regular Time	Qty.	Bid Hours	Seashore Asphalt Corp. Woodbine, NJ Hourly Rate	Total
Plow Trucks with Authority supplied plows	4	8	\$194.00	\$ 6,208.00
Plow Trucks with Authority supplied plows & Spreaders	2	8	\$394.00	\$ 6,304.00
3. Supervisory Vehicle	1	8	\$350.00	\$ 2,800.00
Monday to Friday Standby Time				
1. Plow Trucks with Authority supplied plows	4	2	\$97.00	\$ 776.00
2. Plow Trucks with Authority supplied plows & Spreaders	2	2	\$197.00	\$ 788.00
3. Supervisory Vehicle	1	2	\$125.00	\$ 250.00
TOTALS				<u>\$17,126.00</u>

Contract No. SPS-3E-15 Exit 69 North and South

			Eagle Paving Corp. Toms River, NJ		
Monday to Friday Regular Time	Qty.	Bid Hours	Hourly Rate		Total
1. Plow Trucks with Contractor supplied plows & Spreaders	1	8	\$350.00	\$ 2	2,800.00
2. Supervisory Vehicle	1	8	\$125.00	\$ 1	,000.00
3. Loaders per specifications	2	8	\$345.00	\$ 5	,520.00
4. Backup Vehicle w/Arrow Board	2	8	\$35.00	\$	560.00
Monday to Friday Standby Time					
1. Plow Trucks with Contractor supplied plows & Spreaders	1	2	\$175.00	\$	350.00
2. Supervisory Vehicle	1	2	\$125.00	\$	250.00
3. Loaders per specifications	2	2	\$172.50	\$	690.00
4. Backup Vehicle w/Arrow Board	2	2	\$35.00	\$	140.00
TOTALS				\$11	,310.00

Contract No. SPSO-02-15 Exit 88 Ramps

			Eagle Paving		
			Corp.		
			Toms River,		
			<u>NJ</u>		
Monday to Friday Regular Time	Qty.	Bid Hours	Hourly Rate	Total	
1. Plow Trucks with Authority supplied plows & Spreaders	4	8	\$367.45	\$11,758.40	
Monday to Friday Standby Time					
Plow Trucks with Authority supplied plows & Spreaders	4	2	\$150.00	\$ 1,200.00	
TOTALS				<u>\$12,958.40</u>	

Contract No. SPSO-03-15 Poor Man's Parkway (Between Rt. 539 & Stage Road)

			Eagle Paving Corp.	
			Toms River, NJ	
Monday to Friday Regular Time	Qty.	Bid Hours	Hourly Rate	Total
1. Plow Trucks with Contractor supplied plows & Spreaders	1	8	\$325.00	\$ 2,600.00
2. Supervisory Vehicle	1	8	\$125.00	\$ 1,000.00
Monday to Friday Standby Time				
1. Plow Trucks with Contractor supplied plows & Spreaders	1	2	\$150.00	\$ 300.00
2. Supervisory Vehicle	1	2	\$125.00	\$ 250.00
TOTALS				<u>\$ 4,150.00</u>

Turnpike Areas

Contract No. SPB-06-15 Milepost 0.0 – 53.5 (Int. 7) Inner Roadway

			Silvi Concrete Fairless Hills, PA	
Monday to Friday Regular Time	Qty.	Bid Hours	Hourly Rate	Total
1. Plow Trucks with Authority supplied plows	6	8	\$650.00	\$31,200.00
2. Supervisory Vehicle	1	8	\$250.00	\$ 2,000.00
Monday to Friday Standby Time				
Plow Trucks with Authority supplied plows	6	2	\$325.00	\$ 3,900.00
2. Supervisory Vehicle	1	2	\$125.00	\$ 250.00
TOTALS				\$37,350.00

Contract No. SPC-02-15 Milepost 60.5 (Int.7A) – 73.3 (Int. 8A) Inner Roadway North Bound

			Silvi Concrete Fairless Hills, PA	
Monday to Friday Regular Time	Qty.	Bid Hours	Hourly Rate	Total
1. Plow Trucks with Authority supplied plows	6	8	\$650.00	\$31,200.00
2. Supervisory Vehicle	1	8	\$250.00	\$ 2,000.00
Monday to Friday Standby Time				
1. Plow Trucks with Authority supplied plows	6	2	\$305.00	\$ 3,660.00
2. Supervisory Vehicle	1	2	\$125.00	\$ 250.00
TOTALS				\$37,110.00

Contract No. SPN-01-15 MD 8 to 15X Plaza & Ramps-Extending to E109 U-Turn, return to 15X

			Silvi Concrete Fairless Hills, PA	
Monday to Friday Regular Time	Qty.	Bid Hours	Hourly Rate	Total
1. Plow Trucks with Authority supplied plows	3	8	\$650.00	\$15,600.00
2. Supervisory Vehicle	1	8	\$250.00	\$ 2,000.00
Monday to Friday Standby Time				
1. Plow Trucks with Authority supplied plows	3	2	\$325.00	\$ 1,950.00
2. Supervisory Vehicle	1	2	\$125.00	\$ 250.00
TOTALS				\$19,800.00